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Fraffiaa 3 @ o o1 W ieia fage A
qﬂmﬁmmém%?

T Sreiter s HCN 3 & sl
b FRATRRET ST % Sl qgf -

AT W o
ﬁmm%wﬁiﬁa?ﬂﬁﬁ%

(1) HCHO
(2¥ "CH,COCH,
(3) CH,-CHO
(4) CH,CH,COCH,-CH,
(5) EERICRE]
Siem-1 H feT ¢ g 918 i Hiew-11
% feu e IUPAC 7™ @ ghfera $Hifdrg :
Hied-1 Hiem-11
(A= ™) (IUPAC ™)
A. Sifeezggs i. 43R
-3-§9-2-31

B. tftfew afeamse  ii. WA
C. Thed= iii. 3Hfe-2-

FICIE]
D. fyfcesss iv. SRS
CHETA S

A
1 1
2) iv
3) 1
4y

(1)
@
3
(4)
®)

D
iv
i
111
i

B i ] ——————

N

i

Which of the following alcohol gives
red colour in Victor Meyer test ?

(1) n-propyl alcohol

(2) Isopropyl alcohol

(38) Tert. butyl alcohol

(4) Sec. butyl alcohol

(5)  Question not attempted

A carbonyl compound reacts with
HCN to form cyanohydrin which
on complete hydrolysis forms a
racemic mixture of a-Hydroxy acid.
The carbonyl compound is

(1) HCHO
(2) CH,COCH,

(38) CH4;—CHO
(4) CH;CH,COCH,-CH,4
(5) Question not attempted

Match the common name given in
Column-I with the IUPAC name
given in Column-II :

Column-I Column-II
(Common (IUPAC Name)
Name)
A. Valeraldehyde i. 4-methylpent
-3-ene-2-one
B. Mesityl oxide  ii. Pentanal
C. Acrolein iii. 3-Phenyl-2-
propenal

D. Cinnamaldehyde iv. Propenal
The correct code is

A:wBe 0~ D
(y=’x a2
(2) -iv e il i
@3 i LIV e T
MYy 1" o
(5) Question not attempted

Ozonolysus of 3- methyl-l-butene
gives a mixture of

(1) Propanal and ethanal

(2) Propanone and ethanal

(3) Butanone and 1-butene

(4) 2-methyl propanal and methanal
(5) Question not attempted
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5.

7

8.

39

RCONH, #i Br, a1 KOH % ¥
FrffsHan W s et weged &

(1) RCONHBr @& RNCO

(2) RNHCOBr @& RNCO

(3) RNHBr @ RCONHBr

(4) RCONHBr aa1 RCONBr,,

(5) A T

98 feds S mufts YewEial i
Afceerse ¥ faigd wH & fore wgw
el 2 -

(1) it aTem # KMnO,

(2) it Ared & K,Cr,0,

(3) fufifrm wRmEe (PCC)

(4) Seft wrem § DIBAL-H

(5) Irgaid S

T (a) & (d) 7 TR FEAC | R E -
Wi )
o OO o >

WA g1l %1 == Hife
1) @@ (2 (b)daAr(c)
B @aa(d) (@ (a)7A(c)

(5) I SR
fafefilga seifRafas 3wl & 6

| o7l el ¥ oElE W ¥ SR

HIfw
A. HCOOH  B. C H,COOH
C. FCH,COOH D. CH,COOH

(1) A>B>C>D
(2) B>A>C>D
3 C>A>B>D
4 B>C>A>D

(5) Igaia T

() oo s s ienos s e T i s i

8.

Intermediates formed  during
reaction of RCONH, with Br, and

KOH are

(1) RCONHBr and RNCO

(29 RNHCOBr and RNCO

(3) RNHBr and RCONHBr
(4) RCONHBr and RCONBr,

(5) Question not attempted

The reagent which is used to
oxidise primary alcohols to
aldehydes is

(1) KMnO, in acidic medium

2) K,Cr,0,in acidic medium

(8) Pyridinium ChloroChromate
PCO)

DIBAL-H in aqueous medium
Question not attempted

4
(5)

Four structures are given in option

(a) to (d) :
B we

¢ o [>-

Select the aromatic structures :
(1) (@and(d) (2) (b)and(c)
3 (@and(®) (4) (a)and(c)
(5) Question not attempted

Arrange the following carboxylic
acids in decreasing order of their
acidic strength :

A. HCOOH B. Cz;H,COOH
C. FCH,COOH D. CH;COOH

(1) A>B>C>D

2 B>A>C>D

B C>A>B>D

4 B>C>A>D

(5) Question not attempted



9.

10.

11

fr=feRea & @ 5 € srfufrard Ssia &
H C = C w74} i sufeufer t giet € 2
(@) G H R R, - =20

(b)

H,S0,
()

(D

CH, + HNO,

Ni

- WEHRCE:

1) @aae) (2) (©)ad(d)
3) ), T (d)(4) (c)aur(d)
(5) rgaRa e

frafafea afifrr & s° aon g=
391G [A] B :

@ + CH,~CH,~CH,—CI

BRG]

alcr, A

CH2 = CHZ_ CH3
0 ©F

2
CH,

o [0
H,C CH;3
CH,CH,
o ©OX
CH,

(5) ITFTRG 3=

frafafea @ @ fFan @ anl/da
et € 2

~C,H;, —~OH, —CHO, —CN, —OCH,,
~COOH, —Cl, -NH,

1) 4 @ 3
® 2 4 5
(5) i I

10.

11

|
|
|
|
|
!
4

Which of the following reactions
show that there are three C = C
bonds in benzene ?

FeBr,
(@) CgHgz+ Br,——=»
(b)

H,S0,
(©
N

@ CH+sH,—N ,
Correct codes are ]
1) (@ &) (2 () & (@)

3 0E&W@ @ (© &
(5) Question not attempted

CeHg + HNO,
CeHg+ 03—

The major product [A] formed in
the following reaction is :

+ CHy~CH,—CH,—CI

Anhy.
AICl,

CH,— CH,~ CH,
o @

(2)

[A]

CH;

o, O
Hsc CH3
CH,CH4
o X
CH,

(5) Question not attempted

Among the following, how many
groups are ortho/para directing ?
_Csz, _OH, _CHO, _CN, _OCHa,
-COOH, -Cl, -NH,, _

1) 4 2 3

3 2 4) 5

(5) Question not attempted
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12. 99 : 98 CH,CI o1 AICl; & & § 12. Assertion : When CH,C! and
Fffsran w1 & @t CI® soiseiaeig AlICI, react with benzene, the
BT | electrophile is CI®,

Reason : The first attack on

L] : @
T : S T gl JER CI® 1 gl 2 | benzene is of CI®.

() @ w1 FROT QO E (1) Both Assertion and Reason
ST, U HT G&l TR 2 | are true and Reason is correct
) FY qU HRO A wD E, T explazz.tion of Assertion.
I S (2) Both Assertion and Reason are
, O 1Tl TR true, but Reason is not correct
(3) U HE g, g HRY T @ | explanation of Assertion.
(4) HYH AT HROT SHI T & | (3) Assertion is true, but Reason
is false.
5 aﬂﬂitﬂ BLEE]
©) (4) Both Assertion and Reason
13. fefifen § AR S B der e sl
3% (5) Question not attempted
sgferm, fRfen, aafim, Yeefim 13. The number of globular proteins
among the following is/are :
51; 2 22; 3 Insulin, Keratin, Myosin, Albumin
3) 4 4) 1
1) -2 2 3
(5) G WA (3) 4 @ 1
(5) Question not attempted
CH,- CHj _
= 14. CH, - CHj4
Bry/hy , [A] e KOH , [B] ’ = e
LGERIS 2, [A] = (B
fsta CrO; (€] major product
o) anhydrous CrOj C
s [C] 2 | CigE
(1) VEREEA The compound [C] is
@) efiem (1) Acetophenone
‘ ®) i ! (2) Acetone
- |
G (3) o-cresol
(4) p-shEIA ! (4) p-cresol
(5) rgaRd I | (5) Question not attempted
39 5 o




16.

15. Fr=feRea & @ om0 v

@ T

® |

(4)

(1) CgH,—NH - NH;
(2) UHifes YRR
®) fre sfieds

(4) NH,-OH

(5) ITgaRd

15. The  structure of nitrogen
containing heterocyclic base
cytosine among the following is :

NHS,
¢
S
HeC it N
1) [ |
H—C o
|
H
0
(Ll
PR
HsC—C NH
@ % ey
H—C C
|
H
0
Ié
H—¢"  SRNH

3 I

e
ATEONE
HsC—C N—
@ l
Hac"'C\N/C%O

I
H

(5) Question not attempted

H

16. The reagent which does not react
with glucose is

(1) CgH;-NH-NH,
(2) Acetic anhydride
(3) Schiff’s reagent
(4) NH,-OH

(5) Question not attempted
39



17.

18.

19.

20.

21.

39

R K2

(1) SEAIREH a9 a9 A faei
() TSIwATSH T et & foem

(3) epifeieh 3Tt IRIT et Ul T W T
(4) FRASHETARA a7 e 3§ fae
(5) 3TgRa A

g a9shn 8 W 9 *1 " waifees

BT ?
(1) 4°C 2 0°C

(8) —4°C (4) 10°C

(5) STgARa I

frfeafea & @ 19 @ 31 °§ w ot s
I 90° HTTH 8 ?
(1) IF,

(8) XeF,

(5) IrEid S

wifis &1 3w Repr ey w0 ()

g

(1) NO, O,

(3) NOY, Co

(5) T I

AT Th oy Y@l Jod AOTAHTSS &

fore} e

(1) D-HE §HE S o-TAEHEEE
THAFA AR |

(2) DHE THE S PARHEREE
THHIS @A R |

() DR ThE W o TATHEEE
TTAIS &2 |

(4) D-ieRm THE A pIATEHEEE
THHIA AR |

(5) Il I

@ SiCl,
4) PCI,

2 NO,0F
(49 NO;N,

17.

180

19.

20.

21.

e R R R R e~ paa eSSy e IR,

Vitamin K is

(1) Phylloquinone and soluble in
oils and fats.

(2) Riboflavin and soluble in water.

(3) Ascorbic acid and soluble in °
oils and fats.

(4) Cyanocobalamin and soluble
in water.

(5) Question not attempted

The temperature at which the
density of water is maximum

(1) 4°C (2) 0°C
(3 —4°C (4) 10°C
(6) Question not attempted

Which of the following molecule does
not contain any bond angle of 90° ?

1 IF, 2) SiCl,
(3 XeF, (4) PCI
(5) Question not attempted

Pair of species having same bond
order is

). NO,O- © (9 NO,O:
(3) NO',CO (4 NO, N,
(5) Question not attempted

Cellulose is a straight -chain

polysaccharide composed of only

(1) D-glucose wunit joined by
a-glycosidic linkage

(2) D-glucose joined by
B-glycosidic linkage

unit

(3) D-galactose unit joined by
a-glycosidic linkage

(4) D-galactose unit joined by
B-glycosidic linkage

(5) Question not attempted



22. mﬁammﬁ%:
Q) H= —V =V

@) ﬁ=—-—v2+v
@ A= ——--v2+v

@) ﬁ———v2+V
(5) T I
23. iam-1 &t TfiEfis @ Hiew-I1 § 715
FTeeft T Y FEAT, THIh! JHT 6l HE
AT ITHI & gafera Hif :
Hiem-11
HieH-1
et i | THTEhT g
CIN | e | R T
A CIF, i 5 1

Ui
EUEE

C. SF, | 2 3 Eecip]
D. BrF, |iv. 3 2 | T-3Hla
EHECTAS
A
@ i

B
ii
@2 iv 1 i i
iii
i

3 ii et |
(4) ii it
(5) IrgaRa I

24, 3anfoges ween ° Fefalaa & 4 o=
T e Ue weRfa Hr T 2
() Hey=0,,6
2 Li =KK,o
3 Na_=KK,LL, o

4) Be = KK, » Op2s © 252
(5) Wﬁaw

T TR, TUSIS TRAR S Wi A Wil Tim——

22. Hamiltonian operator ﬁ among the

23.

24.

following is :

(1) ﬁ=—§EV2—V
2

@) ﬁ=—%v2+v
2

® f==pvi+y
A 2h2

@) H=——VEL Y
(5) Question not attempted

Match the species of Column-I with
their number of bond pairs, number
of lone pairs and shape in Column-II :

Column-II
Column-I| Number | Number| Shape
(Species) | of bond | of lone
pairs pairs
A ClE, h 5 1 Square :
pyramidall
B, Iz o ik Seesaw
C.SF, i 2 3 Linear
D. BrF, [ivo 3 2 T-shape

The correct code is :

Art ol Ce D
(1)1 TN -oim = gy
)1y an it i
(G anliaoy =
@oain o v
(5) Question not attempted

Which of ‘the following electronic
arrangements in molecular orbitals
is correctly represented ?

+ T ~laity
(1) Heg B 61323 0-182

(2) Li2 = KK, Cgl
3) Na2 = KK, LL, Oyt

(4) Be,=KK,0,,,5,

(5) Question not attempted
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25.

26.

27.

28.

39

(5

frferRaa o @ sTer e dp @ -

(1) [Mn(CN)g*

2 [Co(C,0 4)3]3'

(3) [Fe(CN)g*

4) [CoFg*

IR I

[MnBr,]2 % feQ sheel <501 grehid

msgBMﬁlmW%ﬁuﬂﬁ
HUA R

(1) 3Eeh! SgSherehid ST 8 |

@ o, e 0%

@) TR, 2e 2R

(4 mFE=FnTEae|

(6) I A

feffes & @ == @t o
ITHARIT THe! § Jad fapfaetor (I
R ) % g 3wy R ?

(1) 3= ThY Tpedl & foru d-herepl A
0, 3, 5, 8 AT 10 ST &I |
= =R Tt & forw d-shereni @
0, 3, 6 TYT 10 SAFH & |

e s g ARH & t,, T e
%% qaE el |

el I ThUT Wl o 1T d-hEh
T 4 71 9 SEE & |

(5) I A

[CoFg? &ga e i v fas
HRO FTTEH B

(1) b I FoTIA & BRI

(2) ©: FIfd FAFRAN & HRU

(8) =R A FerrIAI b HIT

(4) < Y TR S B

(5) FARA T :

)

3)

4

m TR WAL ASS LML LS UMY T B T\ e T M T et A b &

25.

26.

27.

28.

[CoFgl*

Outer orbital complex among the
following is :

(1) [Mn(CN)g*

(2) [Co(C,0,)4]*

3) [Fe(CN)g*

(4) [CoFgl*

(5) Question not attempted
The spin only magnetic moment of
[MnBr,]% is 5.9 BM. The correct
statement about the complex is :

(1) It has tetrahedral geometry.
(2) Its configuration is t2g5 el

g
(3) Its configuration is tzg2 eg3.
(4)

®)

Which of the following condition is
favourable for strong distortion
(Jahn Teller effect) in octahedral
complexes ?

(1) 0, 3, 5, 8 and 10 electrons in

It is low spin complex.
Question not attempted

d-orbitals for high spin
complexes.

(2) 0, 3, 6 and 10 electrons in d
orbitals for low spin
complexes.

3 If tog and €q orbitals of central

metal ions are symmetrical.
When 4 and 9 electrons in d-
orbitals for high spin
complexes.

(6) Question not attempted

(4)

complex ion is
paramagnetic in nature due to

(1) One unpaired electron

(2) Six unpaired electrons

(8) Four unpaired electrons

(4) Two unpaired electrons

(5) Question not attempted



29. fore fomhl Ivwohm frea &3

30.

31.

feraren # =aw & wererar @
(1)..C,05
3)

(2) NH,

CN- 4 CO

(5) ITFARA I

Mg[Th(NO,),] # Th # ITeadT®
TEAT qUT Fepet <h! JATehidl HAW: &

(1) 6, ITHART

(2) 8, s-wfafrsH

(3) 9, Bi-%ve freprita

(4) 12, sgwiERg (wfawah)
(5) Jgia ¥R

HeHeh e & faured (o) % fog
IETFYTR :

(1) 3= Fwomaida forre 1 frew &
furer s g ? |

= o forrs &1 v &=
fueAs= g 2 |

I SNEERT FEE 9™ g
Al w1 e &3 fues 3=
BaT? |

@)

3)

4)
IV-N d-F&F F AHR ggal &
forew 87 fureA sgaT 2 |

(5) IrgERd S

u@aﬁ%wmgﬁﬁgﬁﬁﬁ |

10

29.

30.

31.

The ligand which has lowest field
strength in octahedral crystal field
splitting is

(1) C,07 (2) NH,

(3) CN- (4) CO

(6) Question not attempted

The coordination number of Th in
Mg[Th(NO,),] and shape of the

complex respectively are
(1) 6, Octahedral

(2) 8, Square antiprism
3)
4
®)

9, Tricapped trigonal prism
12, Icosahedral
Question not attempted

The incorrect statement for
octahedral crystal field splitting

Ay is:
(1)

Large  negative charged
ligand will have large crystal
field splitting.

Small  negative  charged
ligand will have large crystal
field splitting.

Metal ion with higher
oxidation state causes large

crystal field splitting.

@)

3)

(4) In similar complexes of metal
having same ligands, the size
of d-orbital increases, crystal
field splitting increases.

(6)

Question not attempted
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32.

33.

34.

39

frafafea Bt SRS mET =

IH wGd ¢ TEHI AW & WA A
aferd i :

Ce3*, Gd3*, Tm3* a1 Yb3*

(1) Ce3* <Yb?* < Tm3" < Gd3*
(2) Yb3+ < Cedt < Gd3* < Tm3t
(3) Gd3*< Tm3* < Yb3+ < Ced*
(4) Ced3t < Gd3+ < Yb3.+ < Tm3"'
(5) I SRA

freafafeg i a PN TR T TE 8 ?

1) e § g TR B R
ATIE ¥ Al Bt R |

2 Ut % fou @wm W
AT H WA W@ q S
e Bt 2 |

(3) UfFTaS! i HieR gk guTtEd
(saftr) Tt & et At 2 |

@) RS G AARE) % Gepe
J ARH AR |
(5) gEI A

A § b sl R % fore
=k e S 3R Hefi AeH Ll T |

[T S T 7S FEten T J 9w Bl B,
FI & 1 A FA W BN | Fr=faea §
YT AT TR R ?

@ J=L-S (@ J=8-L
3 J=L+S @) J=LS

(5) IR FH

32.

33.

34,

r— T — T ——— —

Arrange the following tripositive
lanthanide ions in increasing order
of their magnetic moment values :

Ce3t, Gd3*, Tm3* and Yb3*

(1) Ce3* < Yb3* < Tm3* < Gd®*
(2) Yb3* < Ce? < Gd* <Tm3*
(8) Gd3< T1h3+ <Yb3* < Ced*
(4) Ce3t <Gd3* <Yb3* < Tm3*
(5) Question not attempted

Among the following, which
statement is not correct ?
(1) Actinoides have  greater

tendency to form complexes
than Lanthanoids.

(2) Spectral line for Actinoid ions
is much sharp than that for
Lanthanoid ions.

(83) Molar magnetic susceptibility
of Actinoides is higher than
that of Lanthanoids.

(4) Actinoid contraction is greater
than Lanthanoid contraction.

(5) Question not attempted

For magnetic moment calculation,
in the Lanthanides the spin
contribution S and  orbital
contribution L couple together to

‘give new quantum number J. Which

of the following relation is correct

when shell is less than half full ?
) sF=L—8 - (@ ‘d=8-L
@® J=L+S @) J=LS

(5) Question not attempted



85. ®fskam et E, &t T % fog @@
IR E TR 2

a

E.1
(1) lnk=—§|:‘,‘f}+lnA

a

1 E,[1

@ RpE="R[T/*hA
E.l

(3) lnk=§[ﬁ]+lnA

E,

@ mk=7|F|-ma
(5) TgaRa A

36. SO,ClL, ®t it WRfvrs wEr & et
e # faaifa @9 # 30 fiFe &1 9wy
o @ | 3fe sffrm em e Hr 2 @
arfiifsra <61 A fRrT g
(1) 7.77x1048!

(2 3.85x1048S!
B) 2.31x1048!
4) 1.11x1048S!

(5) 3gaRa ¥

37. A (A) : Ln3* J=AT & S |

AT YfghTd S5 Hehrvl a1l & |

HRU (R) : @1 i Fifh 4f 3oag,
5s d 5p H&H H ITAGRAl TN
e w9 8 qReferd B €

e ol T et & & waiftres Sy &1

Wiﬁﬁ'&: '

(1) Q)R ITIEE R), (A)
F1 T8 W R |

(2 (A) 7 (R) 3Fi 8 &, & (R),
(A) T TE ST TE B |

(B (AFIR R)IEAR |

@) (A) T (R) I A ¢ |

(5) gRd =

a 12

35. For calculating activation energy
E,, the correct Arrhenius equation is

E, 1
(1) lnk=—§[ﬁ]+InA
1 Bl
2) Hrf[ﬁ]mm
E
3) znk=-§“[%]+lnA

’ E
4 In k=—f§[-%]— InA
(6) Question not attempted

36. Time required to decompose
S0,Cl, to half of its initial amount
is 30 minutes. If the decomposition
is of first order reaction, then the
rate constant of the reaction is

1) 7.77x10487!
(2) 3.85x10%8S1
8 2.31x10%S1?
(4 1.11x10%8S!
(56) Question not attempted

37. Assertion (A) : The absorption
bands of spectra of Ln3* ions
are very narrow.

Reason (R) : It is due to effectively
shielding of 4f electrons by 5s
and 5p orbital electrons.

Choose the most appropriate
option given below :

(1) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(2) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(3) (A)is true, (R) is false.

(4) Both (A) & (R) are false.

(5) Question not attempted
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38.

39.

40.

41.

sififsFmr A + B — 3@ & fou
YR a1 (y, mol L-1S~Y) @ert [A] &
[B] 1 wRfwe argar areft # & g # -

[A]l| 0.20M 0.20 M 040M

B]] 0.30M | 0.10M | 0.05M

Yo |5.07x 107 (5.07x1075(|2.028x 10°*

[A] @ [B] % an Rl H wif
m:%

@y 2.1
()12

(5) 3gaid wH

T U9 Hife Y Iffsrar | foamr Fifse
S 10 =0 § 90% of Bt & | 99.9%
affrnsaqEiarft?
(1) 309w 2 209w

(3) 189w (4) 159w

(5) IFE ¥
frafafga 4 @ s HuA 2 :

(1) i i v TEfs A g |
) fufsrn < smfveesar wrafi @
Sfed SF1 yer it Afufsranett w
AR B R |

Sifee stfifran f Fit ge@ A ug
HFFAG IR |

Sifeet stffsrar & fou 9o og 1
H) Ffe qun fvTwHd T B § |
(5) ITFRa A

T AR 3A — I F g m A
$ Frgar H 91 AT e S g,
i 3 g 2 e R | srfrfe

(2) &b, 1
4) 2,0

3

@

- wIfeR
O 3 @ %
® 2 @ 5
(5) FFERATHA

39
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38.

39.

40.

41'

For a reaction A + B —— Product
initial rate (y, mol L71S7!) and

initial concentration of [A] and [B]
are given in table :

[A]] 0.20M | 020M | 0.40M
[B]| 0.30M | 0.10M | 0.05M
Yo |5.07x107°|5.07x 107 (2.028 x 10~*

Order of reaction with respect to
[A] and [B] respectively is

i)y 21 @ 15,1

(3} 12 @ 2,0

(5) Question not attempted

Consider a first order reaction which
is completed 90% in 10 hrs. When
will 99.9% of the reaction complete ?
(1) 30 hrs. (2) 20 hrs.

(3) 18 hrs. (4) 15 hrs.

(5) Question not attempted

Incorrect statement among the
following is :
(1) Order of reaction is an

experimental quantity.
Molecularity is applicable to
both elementary as well as
complex reaction.

For complex reaction, order is
given by slowest step.

For complex reaction,
molecularity and order of
slowest step is same.

Question not attempted

()

3
@

(6)

For a reaction 3A —— Product, if
concentration of A is increased by
four times, the rate of reaction
doubles. The order of reaction is

W 3 @)

3) 2 4)
(5) Question not attempted

= 00—



42,

43.

44,

45.

'Etﬁwﬁ—logyiaﬁ\/ﬁaiﬁw

- et s - dgn-
FouE & fou fad-gwa dum fem

oG 8 X@T %1 &/ 8

1
(@) 3% 0.509

(3) 0.509

(5) Irgaia 5

@tﬁﬁmn04ﬂﬁMn02ﬁmﬁﬂ
FA F foe F02 F w9 4 savEs g
<1 AT et gt 2
(1) 3F
3 2F

(5) IgaRa g=

% uifcys ar § 2 " 9% 1.34 TRR
e o yaifeg 6 ot @ @ ar §
ST Fo gerargA e & ?

(1) 6.02 x 1022 saaH

(2) 9.648 x 1020 3T

(3) 6.02 x 102! AT

(4) 9.648 x 1019 Forag

(5) FRa we

298 K a9 W feu 71u &1 %7 emf &

2) 3x0.509
(4) 4x0.509

2 B5F
4 6F

+2
Zn( o

a=1M

+
Zn(s) Ag(a Q)

a=0.1M

Agg

(1) 167V
3) 1.82V

(5) T e

@ 150V ,
@ 20V l
|

42.

43.

44.

45.

In Debye-Huckel limiting law
equation, for plotting — log ¥4

against\/; the slope of the line for
uni-trivalent or  tri-univalent
electrolyte will be

(1

3
®)

1
3x0.509 (2) 3x0.509

0.509 (4) 4x0.509
Question not attempted

How much electricity in terms of
Faraday is required for reducing

1 mole of KMnO 4 to MnO,, ?
(1) - 8F @2 b5F
3 2F 4 6F

(5) Question not attempted

If a current of 1.34 ampere flows
through a metallic wire for two
hours, then how many electrons
would flow through the wire ?

(1) 6.02 x 1022 electrons

(2) 9.648 x 1020 electrons
(3) 6.02 x 102! electrons

(4) 9.648 x 10'° electrons
(6) Question not attempted

emf of given cell at 298 K is :

+2
Zn(al D

a=1M

+
Zn(s) Ag(aL 5

a=01M
E;e]l =1.56 V

(2) 150V
4 20V

Agg)

(1) 167V
3) 1.82V

(5) Question not attempted
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46.

47,

48.

FrafaRaa srfifra & forw w3l afmda
2

CH, + Cl,—> CH,Cl + HCI

T T
C-H=4162kJ
Cl-Cl=242.TkJ
C-Cl=330.5kd
H-Cl=430.9kd
(1) +102.5kJ (2)
(8) -102.5kdJ

(6) 3RE A

ws SAffea : 2Cl, — Cly, B fo
freaffeadasR a2 ? :
(1) AH 9ATcH B, AS FUTeT 2 |
(2) AH UM 8, AS HHTEHH &1
(3) AH a1 AS I TTH ¢ |

(4) AH a1 AS ST e § |

(5) TG TR

frfoRea aouemfes Afest @ 25 °C
W OH ! GyeH ST gt

—100 kdJ
(4) +100kdJ

H,;0,—> H,+ OH AH°=57.3 kJ

1
Hyg +3 Ogg—> HyOgy AHC =—285.9kJ

AHggn =0
(1) AH{ [OH,q)] =—22.86 kJ
(@) AH [OHjyy] = 22.86 kJ
(3) AHg [OHq)] =—222.8kJ

(4) AH{ [OH )] =-228.6 kJ

(5) AgEE =

25 °C W 1 x 103 M & digal I
Na,S0, % i foerm #1 amafe
e g

Mt 2% 102 (2) 4% 10
(8} 1x10* (4 2x10°3
(5) g SR

15

46.

47.

48.

Enthalpy change for the following
reaction is :

CH, + Cl,— CH4Cl + HCI
Bond enthalpy for
C-H=4162kdJ
Cl-Cl=242.7kdJ
C-Cl=330.5kd
H-Ci=430.9 kd

(1) +1025kJ (2) -100kdJ
3 -102.5kJ (4) +100kd
(5) Question not attempted

For a reaction : 2Cl, — Cly,

which of the following is correct ?
(1) AH is positive, AS is negative.
(2) AH is negative, AS is positive.
(3) Both AH and AS are positive.
(4) Both AH and AS are negative.
(5) Question not attempted

The Enthalpy of formation of OH™

ions at 25 °C from the following
thermochemical data is equal to :

H,0,— Hy, +OH_ , AH°=57.3kJ

Hyy *3

49.

1 e
Ogy—> Hs0, AH =-285.9kJ

AHpn =0
(1) AH{ [OHq] =-22.86 kJ
(2) AH{ [OH,] =22.86 kJ
(3) AH{ [OH,] =-222.8 kJ

(4) AH; [OHy] =—228.6 kJ
(5) Question not attempted

The ionic strength of Na,SO, at a

concentration of 1 x 10 M in
aqueous solution at 25 °C is

(1) 3x1073 @ 4x103
38 1x10°3 (4) 2x 1073
(5) Question not attempted



50. S THAT®H 5L AT 10L

51.

52.

% 27 °C W gHard! qUT Ichaviy €9 ¥
ST TR ST 8 oW 3§ for AH 8Fm
1) 1729J (2): 7293

3) 29J (4) 04d (Zero)

(5) IrgaRa

UFTEE T ER F FAM: AH o % AW

—393.5 kJ mol™! au1 —395.4 kJ mol!
A AP = TN & Gopmor & fore e
e grm

(1) +1.9 kJ mol!

(2) -1.9kJ mol™!

(8) +788.9 kJ mol!

(4) —788.9 kJ mol-!

(5) gaid g

Frafefiga it =1 9 R/S T 2
CHj

Br H

Br

H

CH;
(2) 2R, 3R
(4) 2R, 3S

(1) 28,38
3) 2S, 3R
(5)  IrFaid T

53. - S ATHE T (pyp) B

® (k

® (s,

(5) IrguRa I

® (3

@ (&

3

16

50.

51.

52.

53.

One mole of a gas is expanded
isothermally and reversibly at
27 °C from a volume of 5 L to 10 LL
then AH for it will be

1) 17294J

(2) 729d

3 294J

(4) 04J (Zero)

(6) Question not attempted

From AH,,., values of graphite
and diamond are respectively
—393.5 kJ mol! and —395.4 kJ mol!,
the enthalpy change for the
transition graphite == diamond is
(1) +1.9 kJ mol!

(2 -1.9kdJ mol!

(8) +788.9 kJ mol!

(4) -788.9 kJ mol!

(5) Question not attempted

The correct R/S nomenclature for

the following compound is :
CHg

Br —H

H_

Br

CHj3
(1) 28§, 3S (2) 2R, 3R
3 28, 3R (4) 2R, 3S
(6) Question not attempted

Joule Thomson coefficient (uyy) is

o @ @ [k

® (@ o (@

(6) Question not attempted
39




54.

55.

56.

39

NP 1 FEH H TURA G0 § ;

2 wir=
(4) T

(1) 7=
(3) Uwd
(5) IgEia ¥

frafafga Al 3§ @ $97 @ =i
TSl el T8 H? ?

(1) 1, 3-veTeE

(2) 2, 4-TFETSTEH

(3) 1, 4-UvCTETEEA

(@) 2, 4-TETHA

(5) gaRa T

(Z)-2-FR-3-AATRfl T9-2-3H15sh  37eA
HaET
H\ : /COOH
(1) C=C
/ \
Cl OCH,
Cl COOH
v

@) >c=c\
H OCH,

H /COOH
3) C=C

(@) =0

(5) IrgaRa w¥A

54.

55.

56.

The least stable conformation of
n-butane is :

(1) Eclipsed

(2) Fully eclipsed

(3) Anti

(4) Gauche

(6) Question not attempted

Which of the following compounds

does not show  geometrical

isomerism ?

(1) 1, 3-pentadiene

(2) 2, 4-hexadiene

(3) 1, 4-pentadiene

(4) 2, 4-heptadiene

(5) Question not attempted

The structure of (Z)-2-chloro-3-
methoxy prop-2-enoic acid is

H /COOH
(1) C=C \

N £
2 C=C
@) Y,
3 C=C

(4) >C =C \
H Cl
(5) Question not attempted



57.

58.

59.

T i [X)] Yesia guee W A [Y]

TATaT 8 S Foefefieror W Adifes sAfaase

Tar g | [X] o [Y] sho: & :

(1) Tt qen 3-grsgTaeiegeet

(2) TWHE T 4-TEgiEd-4-ATH-2-
YA

T T 4-BTEgiadl-4-Afe-2-
YA

S T B-ETEg TR sge et
HATANa T

O

(Iﬁé Cefloo = M g

Iy rfferan ® 3ae [X] B :

3)

(4)
()

CHs CH; - CgH5
Jeoriee

CeHj CH:
3)
(5) 3T A

@

|
HE, Fes I Jam F FEmEER
FrafaRaa wgl & at@a (313H) =0
TEHAR

—Cl, -CHO, -OH, —-COOH

(1) —-COOH >-CHO>-0H >-CI

(2) —Cl>-OH>-COOH >-CHO {
(3) -Cl>-COOH >-CHO>-OH |
(4) —-COOH >-Cl>—-OH >-CHO |
(5) FgAR@IH |

18

57. A

58.

59.

compound [X] on aldol
condensation form a compound [Y]
which on dehydration gives mesityl
oxide. [X] and [Y] are respectively :
(1) Ethanal and 3-Hydroxybutanal
(2) Ethanal and 4-Hydroxy-4-
methyl-2-pentanone
(3) Propanone and 4-Hydroxy-4-

methyl-2-pentanone
(4) Propanone and B-hydroxy
butanal

Question not attempted

O

@4 —eiws s~ 0, g

The product [X] in the above
reaction is :

(6)

CH3 CH; - CegHs
oL FolI)
CeHs CHy

®3)

o

(5) Question not attempted

The correct order of priority
(sequence) of the following groups as
per Cahn, Ingold and Prelog rule is :

-Cl, -CHO, -OH, -COOH

(1) -COOH >-CHO >-0OH >-CI
(2) -Cl>-OH >-COOH >-CHO
3) —-Ci>-COOH >-CHO >-0OH
(4) -COOH >-CI>-0OH >-CHO
(5) Question not attempted

39
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60. TREATES AT & AT TG | € did

61.

62.

39

dfeeeme  2-gEgiaEl-1, 2-SEhi-
@ 20§ | iR weerd R

(1) Shi gfd=

Q) Tredeht siffsran

(3) SiIEH Hed

(4) Ul arfuferan

(5) rTaiE =

Aeiifh T 1 C,H,ONa i 3ufeafa §
Ui & TR 9§ TeTT Heaad| 8
(1) HEEEREA

(2) IR

(3) A

(4) T

(5) rgaia

o auifeeass @ e fufda it
Jufefa # Aefifieh TX @ F 8 At 9-
JqEed IR famEifaaeerr w arfm
E

(1) 2-TEge seitgsh 3

2 FRrfie sma

(3) e TEhifesh I

(4) 5% A H TSN G T

(5) IgEiE T

60.

61.

62.

Two moles of benzaldehyde
under the catalytic influence of
cyanide ion gives 2-hydroxy-1,
2-diphenylethanone. The reaction

is known as

- (1) "Beckmann’s rearrangement

(2) 'Reformatsky reaction
(3) Benzoin condensation
(4) Perkin reaction

(5) Question not attempted

The  intermediate formed in the
addition of malonic ester to

acrolein in the
C,H;ONa is

presence of

(1) Carbocation

(2) Carbanion

(8) Carbene

(4) “Nitrene

(5) "Question not attempted

When benzaldehyde reacts with
malonic ester in the bresence of
pyridine, the end product after
hydrolysis and decarboxylation will
be

(1) 2-hydroxy benzoic acid

(2) Cinnamic acid

(3) 'Phenyl acetic acid

(4) Sodium salt of benzoic acid
and benzyl alcohol

(56) Question not attempted



63. TH 5o I A [A] Sw/HCI %

64.

65.

|11 g1 HNO,, 3 ®r stffean 3 A
[B] =T 2 it Ufefiv 3 T fRem s W
% dien W [C] <1 @ R stga
CoH, N, # | e [A] 6t w2

NH; NOg

(5) ARG WA

foferfea & & |5 H,S0,, i 3afefa &
FRIa~i- frees @y sififean @ DDT
TR ?

(1) e

2) wHRR

(8) A

(4) SEHRA A

(5) ITTARE I

Frafefaa Wfiei # sefita aem § 9%
HTd g &Y A § Safed i :
C¢H,NH,, C,H.CH,-NH,
[A] [B]
CH, - CH, - NH,, (CH,;CH,), NH
[C] - Wl
(1) D>C>B>A
2 A>B>C>D
3 D>B>C=>A
4 A>D>C>B
(5) Iaa A

20

63.

64.

65.

A nitrogen containing compound

[A] reacts with Sn/HCI followed by

reaction with HNO, to give

compound [B] which on treatment
with aniline gives yellow dye (C)
with molecular formula C,,H,;N,.

The structure of the compound [A] is
NH; NOg

(6) Question not attempted

Reaction of chlorobenzene in
presence of conc. H,SO, with

which of the following gives DDT ?
(1) Acetaldehyde

(2) Acetone

(3) Chloral

(4) Diphenyl ethanal

(6) Question not attempted

Arrange the following amines in

the order of their decreasing basic

strength in aqueous medium :

C¢H;NH,, C;H,CH,—-NH,

[A] [B]

CH; - CH, - NH,, (CH;CH,), NH
[C] [D]

(1) D>C>B>A

2 A>B>C=>D

@B D>B>C=>A

4 A>D>C>B

(5) Question not attempted

39
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66. Zn/NaOH ! 3ufeufq & Frggrectia 1

67.

39

AT S

(1) T

(2) USEEeAA

(3) TSI

(@) e g T
(5) I S

arfferan
OH

@ +CH.N,C1 O,

CHjs
o IS BT
OH

N=N-CgH
(1) 6116

CHj
OH

@) N=N-Cg¢Hj

CHs
OH

)

N=N-CeHs

@ @
NH:

(5) IrguRa FH

21

66.

67.

The reduction of nitrobenzene in the
presence of Zn/NaOH will produce :

(1) Azobenzene

(2) Azoxybenzene

(3) Hydrézobenzene

(4) Phenyl hydroxyl amine
(5) Question not attempted

In the reaction
OH

T e

CH3
the product will be

N=N-CgHs
(1)

<Oz

CHs
OH

@ N =N - CeHs

©-

CH3
OH

®3)

<O

N =N -CgHs
OH

4)

o

NH,
CHs
(5) Question not attempted



68.

69.

70.

7

TS 8

(1) $Hfa qur Bhifcsass &1 WA
o 3ATE |

(2) Ien qur wifcsess &1 fods
ST HoA 3G | |

(8) HHIG U whifeeese w1 fods
S e 3G |

(4) e aa whEfesee W WH

U 3G |
(5) TgeRa
TEffaEn FEuse (85%) auT IR
FAES (15%) & Fu9 & 9T & 1l
ARG hECll &
(1) fafem (2) A
(3) ¥ (4) UHH L
(5) I e

frefeiRea § A Sa-Frehiwms agom 2 -
(1) A

(2) PVC (dt.af&h.)

(3) PHBV (fi.w=.&ft.4ft.)

(4) SR

(5) Irgea S

P & @ =9 @ R @ | 7L

FINEICCE IR
(1) ufRRERE-G
2 vEfafem
(3) Umfeatafem
(4) TEAREBIA
(5) ST SR

|
|

e i . s

22

68. Novolac is

69.

70.

(1) Linear condensation product
of phenol and formaldehyde.

(2) Cross linked condensation
product of urea and
formaldehyde.

(8) Cross linked condensation
product of phenol and
formaldehyde.

(4) Linear condensation product
of urea and formaldehyde.

(6) Question not attempted

A copolymer obtained from
condensation of vinylidene chloride
(85%) and vinyl chloride (15%) is
known as

(1) Vinyon  (2) DACRON
(3) SARAN (4) PerlonL

(5) Question not attempted

Biodegradable polymer among the
following is :

(1) Teflon

2) PVC

(3) PHBV

(4) Bakelite

(5) Question not attempted

Which of the following is not a

broad spectrum antibiotic ?
(1) Penicillin G

(2) Ampicillin

(3) Amoxycillin

(4) Chloramphenicol

(5) Question not attempted
39




72.

73.

74.

75.

39

BeH,, 317 # wftaeft 1rorfess & 5(s)

1 wefifa R smar 2

Q) [2s+2 (1, + 1p)]

2) [2p,+Ay(1a — 1p)]

(3) [25_71(15A+]'SB)]

4) [2p,—v1(1s + 1p)]

(5) IFRa A

CO, ¥ % 16 @A TR W

AT fa=rma &

(1) 1afg(nb)1afu(nb)2afgzafue‘§u(n)
ejg(nb) ‘

(2) 1a':g(nb)laiu(nb)Za“ngafuefu(n)
e‘;g(nb)

3) 1afg(nb)1a§u(nb)2ajg2afuefu(n)
ejg(nb)

4) 1a§g(nb)1a_fu(nb)2a§g2a§ue§u(n)
e‘;g(nb)

(5) Igad T

NH, & gufafa fag wg 8

(1) C3v (2) C2v

(3 Dy (4) Dy,

(5) gaRaA T

fafafea @ @ =9 & wfo-s=acs

s s sudsm g ?

(1) wifea 2 sEstTRE

(3) wfienfye  (4) oA

(5) IrgeIid SA

|
|
! ;
i
I
|

23

72.

73.

74.

75.

In BeH, molecule,

molecular orbital &(s) is represented
by :

1 [28+2,(1,, 1)

2 [ZPx + ?“2(13A e 153)]

B) [2s—7,(1 4+ 1p)]

4 [2p,—71(14 + 1p)]

(5) Question not attempted

anti-bonding

The electronic configuration of 16
valence electrons of CO, molecule is

(1) lafg(nb)lafu(nb)2afg2a?uei‘u('r:)
e‘;g(nb)

) 1a‘;g(nb)1afu(nb)2afg2afuefu(n)
¢}, (ub)

3) 1a§g(nb)1aju(nb)2afgzafuefu(u)
¢, (mb)

(4) 1afg(nb)1afu(nb)2a‘1‘gza§uefu(n)
e‘;g(nb)

(5) Question not attempted

The symmetry point group in NH,
is

D G 2= €

3) Dy (4) Dgy,

(5) Question not attempted :

Which one of the following is
employed as an antidepressant drug ?

(1) Morphine

(2) Bromopheniramine

(3) Iproniazid

(4) Seldane

(5) Question not attempted



i

76.

7.

78.

79.

—

o

~

=

[¥]
NN W=
[SERN SRR )

4 n

(5) I A

Fe(CO), T HehuT qUT GTIAT ShAN: &

(1) sp3d, Brepria GRS

(2) spd2, =i fRfEE

(3) dsp3, Brepri iRt

(4) d2sp3, =t R

(5) I S

anfess waw fugra o acw MG *

3R R Frefefed @ wua A Mo

w9 - 1 : AH, YR & 39 § 31fosh
Hep! § I Haet 4 AFRA & A
3oy <ht sefafer Yt gt |

w99 - I1 : AH, YR % 39 & 3o
HErhi § I ol h T 4
a1 2 &) seffer wivfig &t |

& faereg =1 w3= hifve

(1) AT TAE |

2 FHITIE TR |

(3 FHAITIRAA I IEAE |

(4) FFAIFEAAAMFF I TR |

(5) I A

|
|
|
|
i
|
|
i
!
|
|
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76.

T4

78.

79.

Pair of species having
number of outer electrons is

(1) CO,and NO, (2) Ojand N,

3) COyand N; (4) CO,and Og4
(5) Question not attempted

same

The hapticity, available electrons
in covalent model and ionic model
respectively in n-allyl ligand are

(@) n'h=i 1 2

(@) P08 4

B2 2

4 n® 2 3

(5) Question not attempted

The hybridization and structure of
Fe(CO), respectively are

(1) sp3d, trigonal bipyramidal
(2) sp3d?, square pyramidal
(38) dsp?, trigonal bipyramidal
(4) d2sp3, square pyramidal
(5) Question not attempted

In molecular orbital theory as per

Walsh diagram, following two

statements are given :

Statement — I : If there are only 4
electrons in molecular orbitals
of J/AH, type molecule, the

geometry will be linear.
Statement — II : If number of

electrons in molecular orbitals of

AH, type molecule is more than

4, the geometry will be angular.

Choose the correct option :

(1) Statements I and II both are true.

(2) Statements I and II both are
false.

(3) Statement I is true and
Statement II is false.

(4) Statement I ‘is false and
Statement II is true.

(5) Question not attempted

39

e




80.

81.

82.

83.

39

. (@

Rssﬁm%mﬁﬁqﬁﬁmugﬂﬁ@%
g

(1) IR & T T

Sfiver IS & ®

SrefTern! & fmior 8

(4) HIBHATI T HTB TIEH & €9

(5) TG A

O 3 fore araca wU 2

(1) zah el T AR |

2) T Wirgha R |

(3) ¥8 NaOH, 5@t @ @ HCI &
AT @ |

(4) ¥8 500 °C T % FI AT TR 2 |

(5) ITuRa A

I eA-Avee AR A + H,0 +
HY — 3I@e #, i@l [H] = 0.1 mol
dm™3, 91 T IFTH 1 L am 3murt X
frraies (3raiq oeq wom #ife g fadis)
1.39 x 10° S! 7@, 99 Ir«fes
s 8

(1) 4.5x10%dm®mol 28!

2 2.5x10%dm®mol?S

8) 3.5x10°dm®mol?S™

(4) 5.5x10°dm®mol ™S

(6) FTRA A

frferaa srfyferan & sfcm sec 2

+
G P

(1) SEURTEAES 3=
(2) WIYT TehiAfeTh I
(3) A UTEIAA
(4) Ay TR TewEs
(5) IHTING ¥

3
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80.

81.

82.

. In_ the following reaction,

Organotin compounds of the type
R,SnX are used as
(1) Antiknocking
(2) Ziegler catalyst
(3). Preparation of semiconductors
(4). Fungicides and wood
| preservatives
(5) Question not attempted
The incorrect

ferrocene is

(1) It has sandwich structure.

(2) It is diamagnetic.

(3) It is insoluble in NaOH, water
and conc. HCI.

(4).. It is thermally stable above

®)

500 °C temperature.
Question not attempted

In the acid hydrolysis reaction A +

H,0 + H*—— Products, where [H']

= 0.1 mol dm3, volume of water is

1 L and the apparent rate constant
(i.e. the pseudo first-order rate

constant) is 1.39 x 107° S, The
true rate constant is

(1) 4.5x10%dm®mol 28!
2 2.5x10°%dm®mol2Ss!
(8) 8.5x107%dm®mol 28!
(4) 5.5x10° dm®mol2S!
(5) Question not attempted

statement for

end
product is :
D5
CH_MgBr + CS, —d
(1) Dithioethanoic acid
(2) Methane sulphanilic acid
(3) Ethane thiol
(4) Methyl magnesium sulphide
(5) Question not attempted



84. wiem-1 # T~gAT ! Hiaw-II § 37 | 84. Match enzymes in Column-I with
TargHt Frfferanatt | gﬁ%ﬁ e aun their enzymatic reaction in Column-

& H2 1 T HIFIT : + II and select the correct code :
Hiem-1 Frem-I1 Column-I Column-II

(Enzymes) (Enzymatic reaction)
(TTEH) (Tt sfifsnam)

A. Invertase i. Starch — Maltose

A. 7 i R AR B. Diastase ii. Protein - Amino
B. SERS i, WA — W o acids
C. ifem jii, A — THE C. Pepsin  iii. Maltose — Glucose
D. aedg & W i Ww D. Maltase iv. Sucrose — Glucose
AP and fructose
The correct code is :
AL A- B2 0°D
AnBCoD @A EH R
(D ol & iy THEL Fr sl
Qv an. i3 @ iv i i i
(2] B AT, (B R 1

(4) o d S il Iy i

(4 1 i iv i (5) Question not attempted
(5) ARG A
85. For the following photochemical
85. fFm=fefea wew-vemafes afufsrn & reaction :
fere H,+Cl,— » 2 HCI
H,+ Clz——h—v—> 2 HCI Which statement is not correct ?
T FE TR TR 2 (1) The reaction is initiated by
== absorption of light by CI
() i, 9o 28 A | molecule ;
SR & T AL 2 | (2) This reaction follows “Draper’s
) ffsrar “QuE woTa” St e | effect”.
R (3) The rate of reaction is directly
(@) il 6 o s 6w proportional to concentration
%Wﬁﬁ@?ﬁ% | | of oxygen.
o ; (4) The quantum yield is from
(4) fediom H sufafa § F=en | 7 e
10* to 10° in the absence of
@fer 10% & 10° 7 B 2 | | ey
(5) IANE TH | (5) Question not attempted
o 26 39




86. I TIM W FB A A wew | 86

Trerhard T 1S &
Ba(OH), % T A =460.0 21 cm? mol-!
BaCl, % for Ag] =240.0 Q 1em2 mol-L .
NH,CI % R A0 =130.0 Q! cm? mol~L

< g1 W NH,OH & e dier

STeTehal 41 gnft ?

(1) 120Q7! em?2 mol-!

(2) 350 Q7! cm2 mol!

(3) 240 Q! em?2 mol!

4) 90Q1em?2 mol!

(5) IrIia S

87. WA I W Na* @1 Cl- 3t 6t dere | 87-
IAMS AEHad FAM: 50,11 x 104
3R 76.34 x 104 S m?2 mol1 § | Na*
a1 CE 311 % 1R shawn: 8

(1) 0.604, 0.396
(2) 0.396, 0.604
(3) 0.360, 0.640
(4) 0.640, 0.360

(®) gt e
88. A3 g et 1w sifueen & BY. | 88

© —
%1 91 g (Ife E etiag= 0-80 V @
e
EZ

n2*/Zn =0.76.9)

+ 2+
Zn(s) + 2Ag(a S Zn(a 9 + 2Ag(8)

(1) +0.04V (2 +1.56V
() -1.56V (4 —0.04V

(5) rguRa A

39 27

|
|
|
|
|
|
!
|
|
|
|

The molar conductivities of some
compounds at infinite dilution are
given below :

/\gm for Ba(OH), = 460.0 O cm2 mol-1
/\gj for BaCl, = 240.0 Q! cm2 mol-1
A?n for NH,CI = 130.0 Q! ¢cm?2 mol-1

What will be the molar
conductivity at infinite dilution for
NH,OH?

(1) 120 Q! cm? mol-!

(2) 350 Q1 cm?2 mol-!

(3) 240 Q! ecm?2 mol!

4) 90Q7!em?2 moll

(5) Question not attempted

Molar ionic conductances at
infinite dilution of Na* and C/- ions
are 50.11 x 10 and 76.34 x 10~
S m? mol! respectively, the transport
numbers of Na* and CF ions are
respectively

(1) 0.604, 0.396
(2) 0.396, 0.604
(3) 0.360, 0.640
(4) 0.640, 0.360
(5) Question not attempted

Ecee11 for the overall reaction of cell

- . e =
given below (if E AgtiAg 0.80 V and
e s .
EZn2+IZn_ —-0.76 V) will be
2+
Zn(s) + 2Ag; e Zn @) + 2Ag(s)
(1) +0.04V
(2 +156V
3 -156V
(4) -0.04V

(5) Question not attempted



89.

90.

91.

SET-UTHEA AN % AFER S AT HUT
TR @ ?

(1) aft A, 99 3% T © &R
1T R 1 A 7 aiterd guid € |
g # ufteds S w % gEl I
g 3 = S GHHT B R |

T AT N9 ¥ fore sgepy aw W
sfterer g Y BT R |

eyl g & R Jer-gimE i
AT R |

(5) TTRE T

HH 9 W 39 i Fear giar & o
ECIEERIRRCIGEAR R L kS

(1) CP=a3T

@). Gi=a’T

6 Cp=iy

T3
@) Cy=aT®
(5)

AT T

aufefea arfufrn % fow ame o
afad g

N2(g) + Oz(g) —> 2N0(g)

@fg 25 °C W A (g), A (g)
au TERE ATEES (g) B SO FE:
191.62, 205.01 @& 210.45 J K-1
mol-1 %)

(1) 387.66J K1

(2) 18.88J K1

(3) 24.28J K1
(49 —24.27JK!

(5) IgaRa ¥

@)

3)

4)

et T —— T {————" T Tt TS A Ti— A

28

89.

90.

91.

According to Joule-Thomson’s
experiment, which statement is
incorrect ?

(1) All gases show a change in
temperature when they pass
through porous plug.

The change in temperature is
proportional to difference in
pressure of two sides of
porous plug.

For an ideal gas at inversion
temperature cooling effect is
observed.

The Joule-Thomson coefficient
for an ideal gas is zero.

(6) Question not attempted

The Debye third power law for
heat capacity of solids at low
temperature is

@) ‘Co= ar
@ i =aT
@ Cp=m

T3
(4) Cy=aT?
(5)

Question not attempted
The standard entropy change for
the reaction given below will be :
N2(g) e 02@——-> 2N0(g)
(If at 25 °C, S° for Nitrogen (g),
Oxygen (g) and Nitric oxide (g) are
respectively 191.62, 205.01 and
210.45 J K~! mol1)
(1) 37.66JK!
(2) 18.88JK1
(3) 24.28JK!

(4 —24.27J K1
(5) Question not attempted

@

3

(4)

39




92. R IMEEe FI Aifeaw wiFEEe ¥

93.

94.

39

Frfirfemar ;
(1) ? AT wfeeamam siffsra
|
T IrREl Sferemmas iR ® |
Teh AR EE! ATreass iR 2 |
(4) T o Hereh e iR # |
(5) T e
BT |ig H,S0, i sufeafa & Aer-
tHa-wiice & i = gAfw
(coumarin) a1 8 | I Afufran wgedt
?
(1)
&)
3

@
3)

TEHH HEAA

S AffeRa

BieH g1 ARTRaT

(4) hies Affwa

(5) IgARa w
frafafea gemset =t Sy1 frnfafy &
eyl # I TeT-3TqEeH & ued g A
ety Hifsu

A. @— CHzBr
C. H3C-HsC —@— CHsBr

H3C

I
\ H-{Gon-

H3C

B>C>D>A
D>C>B>A
C>D>B>A
A>B>C>D

ARG T

Br

(1)
(2)
3)
4
(6)

29

92.

93.

94.

The reaction of ethyl iodide with
sodium ethoxide is :

(1) An electrophilic substitution
reaction.

(2) A nucleophilic substitution
reaction.

3 A nucleophilic addition
reaction.

(4) A free radical substitution
reaction.

(5) Question not attempted

Phenol reacts with ethylaceto-
acetate in the presence of conc.
H,SO, it gives coumarin. This
reaction is known as

(1)
(2
(3)
4)
(6))

Arrange the following halides in
order of their decreasing rate of
hydrolysis for Sy1 reaction :

A. @— CHgyBr
o no{D)-on-
0 Hsc HgC—@— CH3Br

|
D. HIC —@— CHjz - Br

H3C

B>C>D>A
D>C>B>A
C>D>B>A
A>B>C>D
Question not attempted

Pechmann condensation
Daiken reaction
Hauben Hoesch reaction
Kolbe’s reaction
Question not attempted

(1)
2
3
4
®)



95.

96.

97.

fr=ferfaa uemigiall o1 et & fq | 95.

FITHAT T Tl S 8

foale:
O/CH20H ©<CH3

(1) A>B>C>D
2 C>B>D>A
B3 D>B>A>C
40 B>C>A>D

(5) I S
seferRaa sl 2 :

(\ /\

Ph
(1) 3, 31ﬁ=maﬁmaﬂﬁ=m

@ [, 5] Rt gafd=m
@)  [2, 3] e gafd=m
@) 5, 5] fmites gaf=m
(5) FARa v |

FATETEE T R IANG I0F B G
O BT 8

(1) Syl Frafafa g
(2) Sy2 Prafafe gra
(3) E,CB frarfafrgr
(4) Syi foranfater grn
(5) FARA S

30

96.

The decreasing order of following
alcohols towards ease of
dehydration is :

CH3 CH3
el
OH
CH,;0H CHj
C. O/ D. ©<OH

(1) A>B>C>D
2 C>B>D>A
3) D>B>A>C
(4) B>C>A>D
(5) Question not attempted

A.

=

The following reaction is a :
/ @\

|
Ph

(1) [3, 3] sigmatropic rearrangement
(2) [1, 5] sigmatropic rearrangement
(3) [2, 3] sigmatropic rearrangement
(4) [5, 5] sigmatropic rearrangement
(5) Question not attempted

Base catalyzed ring opening of
epoxide takes place by

(1) Sylmechanism
(2) Sy2mechanism
(8) E,CB mechanism
(4) Syimechanism

(5) Question not attempted

39




98. @ HH)-3, 4-SEAR-1, 5-3FETSIEEH HI

H9 Fid=ra = S ? @F g3 3amR
BT
(1)
(2)
3)
@)

foraes-famar

GUIE -9

Toue-fous :
gaue-gHae a1 fqug-faue wwm
o 8 = | |

(5) gEi S

99. HU - (A) : Iatw fafew & fow w19

100. fr=fafaa yww-taafis e | fER

39

YRSl BT & ;3 fafeon =t
iR &9 A qUEfda qum A
&Y Y N FET R | _

FU — (B) : HTH SEATHES & 37
o ) T A § s
& WehT % foTe ureds Bid €, g
FeAr farferton o fore =it |

ad! freneq =1 w5 Hifve

(1) % (A) wE 2, "G (B) T R |

(2) U (A) T 7, g (B) TR R |

(3) HUA(A)IB)IHTRAE |

4) W (A)IB) AT E |

(5) ITIwI SRA

e Th IR B : 1
Q) a2+wl O) e
@), giol @) n2+o?
(5) ITITNG A

w
=

H H H H
)= :

98. When Cope rearrangement of meso-
3, 4-dimethyl-1, 5-hexadiene is
carried out, the major product will be
(1) trans-trans :
(2) cis-cis
(3) cis-trans
(4) cis-cis and trans-trans are
formed in equal amount.

(5) Question not attempted

99, Statement — (A) : Glass is opaque

to infrared radiations, it
partly reflects and partly
absorbs these radiations.

Statement — (B) : Carbon dioxide
molecules also trap heat as
they are transparent to
sunlight but not to the heat
radiation.

Choose the correct option :

(1) Statement (A) is correct, but
(B) is incorrect.

(2) Statement (A) is incorrect,
but (B) is correct.

(3) Both statements (A) and (B)
are correct.

(4) Both statements (A) and (B)
are incorrect.

(5) Question not attempted

100. Consider the following
photochemical process :

0 0 0 0

It is an example of

(1) n2+nl @ =2+
2

@) aita:

(@ n+o?

(5) Question not attempted



101.

102.

103.

104.

105.

sroeifds W iy g & A S @ A
AN 9d T % foTT TR & 2

(1) NO, 7 CO,

2) CO,a0,

(3) NO, @I CH,

(4) CIONO, @ N,

(5) I T

FRMufoeaEe | AL 220 nm,

logsmu=4.17thaﬁwiﬁ

g (AT ) |

1) n—>n* R avg

2 n—>n* K98

(8) n—>oc* BaE

(4 n—>n* BIg

(5) TgARa A

arE SRend! # il Dt &

v, = 0 T SIS0 T Tl 6 2 :
COCH3 COCH3 COCHj3

© ©:@

OCH3

[A]
(€)) C<B<A
B3 A<C<B

(5) TG T
1, 2-SEFAEINT § 9T B a1t NMR
Thdl o) 9T 8
(D2
(3) 4

|

|

I

(6) FFHAFA I
aﬂaﬁ?mmﬁq@waﬁmﬁ%
|

|

|

l

[C]
(2) A<B<C
40 B<A<C

@3
(4)6

S Tl Al geieh 2
@ No,
@ CH,

1) OH

3) Cilo’
(5) IgaRa ¥

32

101.

102.

103.

04. The

105

In summer season, which gases are
responsible for ozone depletion at
Antarctica ?

(1) NO,and CO,

(2) CO,and O,

(38) NO,and CH,

(4) CIONO, and N,

(5) Question not attempted

Identify the type of transition in
crotonaldehyde at A, = 220 nm,

log € ., = 4.17 (in ethanol).
(1) n—— n* Rband

(2 m—— n* Kband

(3) n— o* Bband

(4) n——> n* Bband

(5) Question not attempted

In infrared spectroscopy the correct
order of v, = 0 stretching absorption

of the following compounds is :
COCHj3 COCHg COCHjs

Q-0 ©

OCH3
[C]
(1) C<B<A (2) A<B<C
3 A<C<B @ B<A<C
(5) Question not attempted

number of NMR signals
obtained in 1, 2-dichloropropane is
1)y 2 @2 3

3 4 4 b5

(5) Question not attempted

. The intermediate radical formed in -

the chain reaction for ozone layer
depletion

(1) OH @ NO,
@) Clo" @ CH,
(5) Question not attempted
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106.

107.

()

108.

39

geo1 g g gform it wt= %
i = 3 Seht nfafafeet & Heifta
fafafea i a s T gm e 8 2
wfafaferat =
TEgat 3 feufeai I
Wl T F—TI HEHAT
T oA FHEA
Forem == @ e
&
g=a1 Wiifera 1 fomawor — v

(1)

- 1
- III

@)
&)

4

AT
(5) IrgaRa¥=

Frafefaa 3 3 g anfa afmme &
I HAAR?

(a) ToenfRRat @t 78 sraumond e &
FEEAT ST |

SR TEST 1 IR ST |
Ugel § T STTURONSA ! T HEAT
Td 3 g 7 |

TerenfeRa =t w99 33 TE IW @i
% forg smaws difgs s @
whivre ferep b v | Tgrrar e |
f=9 fou @ Hig &1 3@ F& gd T
g

HE:

1) (@@a®) (2 ()7 ()
@) Maa(d) @) (cTar(d)

(5) JgEiE I

Fr=fafea § @ = o1 v g gfen &
TTea (IT) T ST 2 ?

(1) Jvs

(2) s

(3) <ehums :

(4) wfafsran ammfi

(5) rgaRa

(©)

(d)

33

106.

107.

108.

Which one of the following pair is
incorrect related with the phases and
their activities under syntax of the
inquiry training teaching model ?

Activities Phase

(1) Verifying the nature of — II
objects and conditions

(2) Explaining inquiry -1
procedure

(3) Formulating rulesor — III
explanation

(4) Analyzing inquiry -V
strategies

(56) Question not attempted

Which of the following are the
goals of concept attainment model ?
(a) Helping the students to
ac¢quire new concepts.
Training in systematic inquiry.
Clarifying and further enriching
the already known concepts.

To help students develop the
intellectual discipline and skill
necessary to raise questions
and search out answers.

(b)
(©

(d)

Select the correct answer using the
codes given below :

Codes:
1 (@ &®D) 2 (@& (@
B & @D ©&@

5) Question not attempted

Which 'of the following is an
example of a channel in
communication process ?

(1) Sender

(2) Symbol

(3) Telegraph

(4) Response material

(5) Question not attempted



109. 5 Y% foemeff #1 & ge] 71 Hes A

110.

111.

TGH 1 e e 2 ok T % R

HEEI! G 3T TEGAT B IGRI el B,

HeEhR Jferm it 78 WY Feerdt § 1

() R dm il Rfesq (waTd)

(2) IR iy, Weww ffesm
T 31R)

(8) Trmat

(4) WS

(5) Irgaia s

I @ream) I gEf-11 (@) @

gife #ifse 3 = e T gz =

ITINT T G TE IR T T34 HIRT 2
-1 TA-11
(BTER) (STRR)

A. RS i gERi 6
FIECy fwTagg

B. 3iiU® WSt ii. wised

C. &R iii, greER=t

D. w158 WNiget iv. GTeaRuis T3
%

A B C R
D i i
(2 i i i iv
3 i i iv i
(- DRy R I e l
(5) 3T e i
o 3 TS FT UF F AR,
ﬂqmm@amwmml
HATR ?
(1) 9T ARG
2 e |
(3) wouE g IwE 1
(4) =TEE |
(5) orgaa v |
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109. When

each student gets an

opportunity to teach one aspect or

component and is taught other

aspects by different members of

the group, this strategy of

cooperative learning is called as :

(1) Student Team Achievement
Division (STAD)

(2) Teacher Presentation
Students Revision (TPSR)

(3) Jigsaw

(4) Group Investigation

(5) Question not attempted

. Match the List-I (Hardware) with

List-II (Software) and select the
correct answer by using the codes

given below : .
List-I List-IT
(Hardware) (Software)
A. Overhead 1i. Content of

projectors books
B. Opaque ii. Slides
projector

C. Computer iii. Transparencies

D. Slide iv. PowerPoint
projectors presentation
Codes :
A =B D

)-8 i N h
(@) il iiehn v
@m.. 1w
@5 a4 mimii W
(6) Question not attempted

. According to Edgar Dale’s ‘Cone of

Experiences’, - which type of
learning experience provides the
highest retention ?

(1) Reading and listening

(2) Watching videos

(3) Direct purposeful experience
(4) Lectures

(5) Question not attempted
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112.

@
©

113.

@

39

freafe & 3 W @ o ¥ ‘o
(3qe) WY o i & 7

(1) No=Ties @ T e
e G@ R-AHE e
Hfrs s i i

[T SHaeT

FRd I

4
(5)

s Gl & ST % TR

FUTY % T § TR 3 & “HIHEl Bl

%’ﬁ'ﬂ'ﬁﬁﬁﬁaw&i@%:

HUF — (S1) : TE ST AR B
AT eaT <l i HIFIER
fipa 2 | '

FT - (S2) : Tg AFm gwEr IR
FgeTeS e H e
el ! G 8 |

&) fepeq 1 wam i

(1) W (S1) T& &, g FUT (S2)

T R | 7

HYA (S2) wE 8, g FH (S1)

TAaR |

%97 (S1) M (S A T E |

%4 (S1) 3 (S2) TN T E |

SAaRd W

()

&)
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112.

113.

Which of the following is included
in the input parameter of a system ?

(1) Formal informal

education

and

Human and non-human

@)

resources

Attainment of educational

3

objectives
(4)
6

Social system

Question not attempted

Regarding psychological bases for
using modern technologies two
statements related to Edgar Dale’s

‘cone of experiences’ are given

below :
Statement - (S1) : It classifies
instructional materials

according to the degree of
experiential concreteness.

Statement — (S2) : It suggests the

independent nature of

learning experiences and
instructional materials.

Find the correct option :

()

2

(3)

4

)

(S1) is correct, but (S2) is wrong.
(S2) is correct, but (S1) is wrong.
(S1) and (S2) both are correct.
(S1) and (S2) both are wrong.
Question not attempted



114.

115.

IS 7T fohT ST A6 WU S P
wEm aIftrm & gdifaa sgft d R
|uel % gen o fenfra fepan e R, <

Y TS T HEATd & ?
(1) Earg

2 Wu

3) IT=T

(4) SR
(5) 3rHRa

wWw-31 ¥ Frafafea sfrm fagedt #
WH-¥ % I9gad HrX wgr rferm (FH

T Ue) ggfedt @ frem hifd
wWa-3 wW9-q
A. Y9 i digrar i ImEH

B. ara-fa  =waa i, e ik
% IR W ferniRiat A

% Hg ST
C. g&3i s A I i, Fagem
SES ()

D. WRF sidard iv. TeRE
EICCA

E e T 9 I :

7. e & jopa et B
il dv i
e R R e
) Bh mae euie Civsdn 1
(4) Hiw=t 170 fiES
(5) I T

B RSP U U N S ——
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114.

115.

When the topic to be studied is
divided into a sequence of short
sections, in the tutorial mode of
computer assisted learning, what
are these sections called ?

(1)
@)
3
4
(6)

Dialogue
Frame
Paragraph
Presentation

Question not attempted

Match the following learning
points from Column-A with the
appropriate Computer Assisted

Learning (CAL) modes from
Column-B :

Column-A Column-B

A. Intensity of i. Narrative

earthquake

Forming groups ii.
of students on the
basis of parent’s
occupation

B. Drill and

Practice

. Problem on iii. Simulation

multiplication of
numbers

. Information iv. Database

about parts of
body

The correct code is :

A B D
(D msay i i
(2) “ii
@ i
4
(5)

My Ty

o 1 < I

iv i i - i

Question not attempted
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116. 0.66 kg I Th g 100 m/s i 7fa @

TewE ? | 398 R qdresd anft
h=6.6x103¢J5s)

(1) 66x10%m(2) 1.0x103%m
3 10x103m@4) 66x10%2m

(5) gaiE w=

117. B, Al, Ga, In 71 TI % fedfig 3ma==

fasa (kdJ mol2) =1 @&t wear e &
1) Al>In>TI>Ga>B
2) B>TI>Ga>Al>In
B B>Ga>TI>In>Al
4 B>Al>Ga>In>TI

(5) IFFuRE S .

118, fr=feifaa werept & fou ot 1 98 sgar

EL

4f, 5d, 6p, 7s

(1) 4f<bd<6p<Ts
(2) bd<4f<6p<Ts
(8) 5d<Ts<6p<d4f
(4) Ts<6p<bd<d4f

(5) TG wH

119. T YW | AR 6 TG & fog

39

FraferRea 4 @ 5 @1 srgua & 82

(1) n=3,l=2,m=-2,s

o

@)

n=4,l=0,m=0,s="

NG = LY [

3)

n=5171=3, m=0,s=+

4) =tg

(5)

n=3,l=2, m=-3,s8

SFATARG I

37

116. A 0.66 kg ball is moving with a

117.

118.

119.

speed of 100 m/s. The associated
wavelength will be (h =6.6 x 1034 J s)
(1) 66x103m :

(2 1.0x103m

3) 1.0x10%2m

(4) 66x1032m

(5) Question not attempted

The correct decreasing order of
second ionization potential
(kJ mol™?) of B, Al, Ga, In and Tl is
(1) Al>In>TI>Ga>B

(20 B>TI>Ga>Al>In

@3 B>Ga>TIi>In>Al

(4 B>Al>Ga>In>Til

(5) Question not attempted

The correct increasing order for
energy of following orbitals is :

4f, 5d, 6p, 7s

(1) 4f<5d<6p<Ts

(2) 5d<4f<6p<Ts

(B8) 5d<Ts<6p<df

(4) Ts<6p<bd<d4f

(6) Question not attempted

Which of the following is not
permissible arrangement of
electrons in an atom ?

(1) n=3,l=2,m=-2,8= 2

@ =Ty

n=4,[=0,m=0,s

©)

1
n=5,l=3,m=0,s=+§

1
n=38,l=2,m=-38,8= 2

(4

(6) Question not attempted



121.

122.

(a) o THERHI <

(b) TS T B2 |

(c) e 39 3T Y TE HHE HT 2 |
d) =® IAR |
aﬁqm/aﬂaﬁwuﬁ%/ﬁ"

(1) %ad (a)

(2) (b)Tun(d)

(3) (b), ()T (d)

4) (a), (b) T (c)

(5) ARG A
Hiem-1 & ﬁ:q T 152N & HATFTEE Bl
HieH-II H ITh! HATFInor TaEAT a1
tmmﬁaawﬁlﬁgﬁ%mﬁﬁrq
wHiem-11
m@mﬁs (ATt
HATET3E) T,
wid)
A. N,O i. +5, A
B. N,0, i, +4, AT
C. N,0, iii. +3, I
D. N,0; iv. +1, g
EHETAF
V., G o SHAR el §
1)y 0 i
2) % 3 11 Il
§3§ e R B
4) 1 n 1 1
(5) IFaRa T
Hiem-1 # fau e qeal & AW Hl Hiem-11
% 37 [UPAC 7 & gafera Sifv :
HieH-1 Hie-11
(acat & ™) (IUPAC ™)
A. Unniltrium i. Rontgenium

B. Unniloctium
C. Unununium

ii. Nobelium
i1i. Hassnium

D. Unnilbium iv. Lawrencium
LTS
A=B 0 5D
1) Smeecim il
2} i oAl oav
eIV 1 1) i
75 B {0 1 T | i1
(5) ATaRa TH=

120. Boric acid is
(a) Weak monobasic acid.
(b) It is not a protonic acid.
(¢) It acts as a Lewis acid.
(d) It is tribasic acid.
Which statement/s is/are correct ?
(1) Only(d (2 b &@
3 ), ©&d 4) (a),®) & (@
(5) Question not attempted

121. Match the oxides of nitrogen in
Column-I with their oxidation state

and chemical nature in Column-II :

Column-I Column-II
(Oxide of (Oxidation state,
Nitrogen) chemical nature)
A. N,O i. +5, Acidic
» B. N,O,4 : ii. +4, Acidic
C. N,0, i1i. +3, Acidic
D. N,Of iv. +1, Neutral
The correct code is :
A B G:-2D
)9y W i i
2 i Hoiedv
(B). —nE it A1v
(A ani aia v e

(5) Question not attempted

122. Match the name of the elements in
Column-I with their IUPAC name
in Column-II :

Column-1 Column-II
(Name of Elements) (IUPAC name)
A. Unniltrium i. Rontgenium

B. Unniloctium ii. Nobelium
C. Unununium  iii. Hassnium
D. Unnilbium iv. Lawrencium
The correct code is :

A B CD
(1) s am i
(2} -1 i iv
(B v n i
(4) i1 i iv 1
(5) Question not attempted
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123. Cl,+ NaOH — [A]
(IveT quT )

124, F=fefigs & @ ®9 @1 g&eET &

125. 3d-3uft T S |1 THAY dcd IREa9I

126. T11-13 ¥ SEdsh garEt ¥ el #

39

Cl,+ NaOH
(TRE 7T 6Ts)

I rfufraatt § w99 o 3AE [A]
T [B] AT &

(1) NaClO,, NaClO,

(2) NaClOg, NaOCI

(3) NaOCl, NaClO,

(4) NaClO,, NaClO,

(5) 3w S

— [B]

HTereflehTieh &1 1 el Teal g FA & ?
(1) I>Br>CI>F

(2) I>Ci>Br>F

B) Cl>F>Br>1

(4) F>CI>Br>1

(5) g S

FHTerefIehuT e T8 quriar & 2
(1) Zn (2 Cr
(3) Mn (4) Sc

(5) oI A

o frefafaa @TIT -

(1) Ga%*>In3*>T#E*
(2 TI3*>In%* > Gad*
(8) Ga®> TP > In?*
(4) In3*>Gad>TE*

(5) IgEia T

39

123. Cl,

124.

125.

+ NaOH —[A]
(cold and dilute)

Cl,+ NaOH — [B]

(hot and conc.)

The products [A] and [B] formed in
the above reactions are respectively :

(1) NaClO,, NaCIO,
(2) NaClO,, NaOCI
(3) NaOCI, NaCIO,
(4) NaClO,, NaCIO,

(6) Question not attempted

Which of the following is correct
decreasing order of oxidizing power
of halogens ?

(1) I>Br>CI>F

(2) I>CI>Br>F

3) Cil>F>Br>1I

(49) F>CI>Br>1

(5) Question not attempted

Which transition element of
3d-series does not exhibit variable
oxidation state ?

(1) Zn (2) Cr
(3) Mn (4) Sc
(5) Question not attempted

. The stability of trivalent cations of

group 13 will be in the following
order :

(1)  Ga3 >In">TP*
(2) TB*>In%* >Gadt
() Ga3*> T2 > In3t
(4) In3*> Gadt> T3t
(5) Question not attempted



127.

128.

129.

Aifi1e [CoCl,(en),]CI H1 ITUPAC TH R :
1) FE-@@F-1, 2-SEW) SEERE!
Hieree (I11) FRIES

fom- (-1, 2-sEHE) sEFATE!
Wiaree (I1) FRIES
BRFEI - (TH-1, 2-STEUHH)
Hraree (II1) FTARES
SRFINEIeE-(T8H-1, 2-ST3WHA)
Siaree (1) FES

(6) I A

Frafafea 3§ @ wivfw, R S wmg
(D XeF, (i) SF,

(i) [NiCl 4]2'" @iv) [PdCI 4]2"
TE fowea 2 :

(1) @ a9 (iv)
(3) (i) T (iii)

(5) AT IH

ARG (A) : Zr 3R Hf F1 gm0
HATaR | -

b (R) : F%6 Zr a1 HE 3ad aroft &
THRTAE |

Frafafgs et 3§ @ o s =9

Hifse

(1) (A) 3R R) 1 @ & 3R R),

(A) &1 T WHHO 2 | .

A) 3R R) 31 =t & 3R R),

(A) 1 98t TEHT TE R |

(A) @& 8, Wg (R) T&a @ |

(A) @1 (R) i T # |

Iaia w91

)

3

@

2 @7 (@)
(4) (i) 7T (iv)

@

3
4
®)

|
|

127.

128.

129.

IUPAC name of the compound
[CoCl,(en),]Cl is :

(1) bis-(ethane-1, 2-diammine)
dichloridocobalt (III) chloride
bis-(ethane-1, 2-diammine)
dichloridocobalt (II) chloride
dichloridobis-(ethane-1, 2-
diammine) cobalt 1D
chloride
dichloridobis-(ethane-1, 2-
diammine) cobalt (IT) chloride

Question not attempted

(2)
3

@
®)

Among the following the species
having square planar geometry for
central atom are :

(@) XeF,

@) [NiCl,]%
Correct option is :
1 O&G) @ @O&G@
3 )& @) (4 (@i & (i)
(6) Question not attempted

Gi) SF,
(iv) [PACL]>-

Assertion (A) : Separation of Zr
and Hf is difficult.

Reason (R) : Because Zr and Hf
lie in the same group of the
periodic table.

Choose the correct answer out of
the following choices :

(1) Both (A) and (R) are true and
(R) is correct explanation of (A).

Both (A) and (R) are true and
(R) is not correct explanation
of (A).

(A) is true, but (R) is false.
Both (A) and (R) are false.
Question not attempted

@

3
4
®)

39




130.

131.

132.

133.

134.

39

A2ah 31T T ITET B

(1) CaF, (20 NaCl

(3) ZnS (4) AIN

(5) IgaRa TH

S« NaCl free = diftam s &+
FTATE & T H 8, 9 98 T @ IeE
AT ], THH B 3

(1) wih e

(2) %Haq

(3) g e Ay

(4) oTg = QY

(5) 3TN W

faft= yR % StTerehl I dper c@aT H1
T W R

(1) fecec>bece>sc
(2) sc>Dbee > fee
(3) bee >fee>sc
(4) sc>fee>bee

(5) IrFaRa I

FaEd AR woIWEM %
e S fore R ST R |

(1) 3rEl (2) HANR

(3) W 4) AT
(5) TgaRa

HFA CoCly4NH,, AgNO, faerm %
Y U Wi AgCl 1 HE89 a1 ® A
P GF T Hu G1ig T H g
H&A1 (CN) a1 gt ?

(1) [Co(NH,),ICl,

2 [Co(NH,),CL,]CI
(3) [Co(NH,),CLINH,
4) [Co(NH,),CICL,
(5) g I

CN=4
CN=6
CN=6
CN=5

I 134.
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130.

131.

132.

133.

The example of network solid is
(1) CaF, (2) NaCl
(3) ZnS (4 AIN

(5) ' Question not attempted

When crystals of NaCl are heated
in an atmosphere of sodium
vapours, it imparts yellow colour.
The reason is :

(1) Schottky defect

(2) Frenkel defect

(8) Metal excess defect

(4) ' Metal deficiency defect
(5).. Question not attempted

The correct order of packing
efficiency in different types of
lattices is

(1) fce>bee>sc

(2) sc>bee>fee

(3) bece>fee>sc

(4) sc>fec>bee

(5) ' Question not attempted

Colloidal antimony is used for the
treatment of

(1)  Eyes

(2) Kala-azar

(3) Cancer

(4) Stomach disorder

(5) Question not attempted

CoCly-4aNH; complex gives one
mole AgCl precipitate with AgNO,
solution. What will be the formula

and Co-ordination Number (CN) of
central metal atom ?

(1) [Co(NHy)ICI,
(2) [Co(NHy),CL,]Cl
(3 [Co(NHy4CI;]JNH; CN=6
(4) [Co(NH,),CICI, CN=5
(5) Question not attempted.

CN=4
CN=6



136. 50

135. 100 g foeme § 1.8 g *M Hied |

foemm #1 T 0.1 °C wgar ® |
e &1 Hiere 3= s g

(1) 1.0 K kg mol!

(2) 1.8Kkgmol!

(8 18.0 K kg mol!

(4) 180.0 K kg mol!

(6) FuRa W

g e wmEsia (C,Hg0,)
500 g &t ® foremn o faerRm @
femies arawm= B

(@1 % o K = 1.86 K kg mol )

(1) 22K 2 8.0K

3 39K 4 49K

(5) IAFEIRG T

137. 99 (A) : ©FE 9 Wi w1 e

FTey e $ e i STagR a1 2 |
Y7 (B) : 98 fom" e & frm @
AT foraeH gt 11
Fo (A) T (B) I TIE |
Y (A) ¥ 8, TG (B) T R |
FYA (A) Terd 8, g (B) T R |
I (A) 9 (B) S T € |
ATRA T

(1)
(2)
3
4)
(5)

138, f=feRea 3 garafa afa wt gg=ife

(a)
(b)
(©
GV
(e)
1)
3
(5)

A0, - xH,0
wE
FLERIIEE]
TiO,

CdS

(@), (b), (c)
(©, (), (e
TR I

2 ), (),
4) (a), (),

135.

136.

137.

| 138.
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The rise in boiling point of a solution
containing 1.8 g glucose in 100 g of
solvent is 0.1 °C. The Molal
elevation constant of solvent will be

(1) 1.0 K kg mol™!

(20 1.8 K kg mol!

(3) 18.0 K kg mol™!

(4) 180.0 K kg mol!

(5) Question not attempted

50 g of ethylene glycol (C,Hg0,) is
mixed with 500 g of water, then

depression in freezing point of the
solution will be d

(K for water = 1.86 K kg mol™)

(1) " 2:2K (2) 30K
3) 39K 4 49K
(5) Question not attempted

Statement (A) Solution of
ethanol and acetone behave
as a non-ideal solution.

Statement (B) : This solution

shows positive deviation from

Raoult’s law.

Both statements (A) and (B)

are true.

Statement (A) is true, but (B)

is false.

Statement (A) is false, but (B)

is true.

Statements (A) and (B) both

are false.

Question not attempted

¢Y)
@)
@3)
4)

(5)

Identify the positively charged Sols
among the following :

(@) Al,04-xH,0

(b) Starch

(¢) Haemoglobin

(d TiO,

(e) CdS

1) (@, ®m),6c) @ @), @),
@) (@©, @, @ (@@,
(5) Question not attempted
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139. 1 ¥ 98% (w/w) H,SO, (89 1.84

140.

141.

142,

39

g/mL) Seft fereram <t werar <= gnft 2

(1) 543M (2) 331M
3) 184 M 4) 9.8M

(5) I R

AU TUTEH S FgAD! & AYNR AT
F & forg g &

(1)
()
3)
(4) 9UEWITE

(5) I S

aFfifpr H  @avEfdar  3weE
I JafddT ST STTHH TET |

FHYATH | 3T
feuie o 3w

919 I <hl AF-HA

e A H® = +ve, AG® = +ve T
ArSe=-—ve

(1) @t g rfifera wa:vafda

2 wft o W rfifsren s yafda
8) = am w rfifsr e yafda
(4) I a9 R Affsran wa:vafdd

(5) FTRa I

7 foomet & o Fo &1 SEE
(ATy) STgarht &
(1) Siderar %
(8) WA ®
(5) ATNa TH

|
(2) WieRaT$ i
(4) e }

|

43

139. What will be the molarity of 1 litre

140.

141.

aqueous solution of 98% (w/w)

H,SO, (density 1.84 g/mL) ?
(1) 543M (2 33.1M
3 184M 4 9.8M
(5) Question not attempted

The colligative property suitable to
calculate the molar mass of
polymers is

(1)
@
3)
4
®)

Elevation in boiling point
Depression in freezing point
Lowering of vapour pressure
Osmotic pressure

Question not attempted

Predict the spontaneity or non-
spontaneity of a reaction if A H® = +ve,
ArGe = +ve and ArSe =-ve

(D

Reaction is spontaneous at all
temperature.

Reaction is non-spontaneous
at all temperature.

@)

Reaction is spo:ftaneous at
low temperature.

@)

Reaction is spontaneous at
high temperature.

4

Question not attempted

(®)

. The elevation of boiling point (AT),)

for a dilute solution is directly
proportional to

(1) Normality (2) Molarity
(3) Molality (4) Formality
(5) Question not attempted



143.

144.

145.

146.

147.

98 gy S FNTaeh! % gUH Em @
Frefasars:
(1) AQ=AW

(3) AQ=AU

(5) Irgafa W

YA : GEIHH TUT A e U 8 |
HRYT : & 77 9T h AT | AR
g1

HYT AT HRU A HE & q°
HROT, HU T TE THHW 2 |
HYF qYUT FRU Al FE 8, g
THROT, U HT TE IR 7L R |
o TEl B, Tg SRV T 2 |
(4) YA T BRI GHI T & |

(5) IFaRa T

IR foreft Freprr # & 1 S 35 9@ 2
a1 frem grr e B 159w R, @
frepr 3 gam ariafies it afted g
() -50@ (220

(3) —203 (4) ©+50 5[

(5) Irgaia A

T afufer # Uowa Femgs
sfufrfiea T

(1) R-I>R-Br>R-Cl

(2) R-CI>R-Br>R-1

3 R-CI>R-I>R-Br

4 R-I>R-CI>R—-Br

(5) TgaRd ¥

Tz o o frem 3t ofew & 7=
s fafma wom o ], weg St &
A S awar 2

(1) G fwE

(2 wgF=m

3) foefia feer

(4) W-F=rifah Fwm

(5) IigaRa s

2) AU=q+W

@ rQ=ar

(1)
&)

3

143.

The relation which expresses the
First law of Thermodynamics is :

1) AQ=AW (2) AU=q+W
® 4Q=AU @ MQ=jy

(5) Question not attempted

144. Assertion : Mass and volume are

145.

146.

intensive properties.
Reason Intensive properties
depend upon the amount of
substance.
Both Assertion and Reason
are true and Reason is correct
explanation of Assertion.
Both Assertion and Reason are
true, but Reason is not correct
explanation of Assertion.
Assertion is true, but Reason
is false.
(4) Both Assertion and Reason
are false.
(5) Question not attempted
If the amount of heat given in a
system is 35 Joules and the amount
of work done by the system be
15 Joules, then the change in the
internal energy of the system will be
(1) —-50doule (2) 20dJoule
(3) —20doule (4) +50dJoule
(5) Question not attempted

The order of reactivity of alkyl
halide in Wurtz reaction is

(1) R-I>R-Br>R-Cl

2 R-CI>R-Br>R-1

3 R-CI>R-I>R-Br

4 R-I>R-CiI>R-Br

(5) Question not attempted

(1)

&)

3

. The system in which no exchange

of matter but exchange of energy is
possible between system and
surrounding is

(1) Open system

(2) Closed system

(3) Isolated system

(4) Non-thermodynamic system
(5) Question not attempted
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148. W-EE—Z—?, 0304% e arfufsear | 148. Cis-But-2-ene on reaction with

T oA - ST W R - 0s0, followed by hydrolysis gives :
(1) 3 e s v (1) 2 moles of acetic acid
@ -2, 3-SR TERAA (2 (-2, 3—butane diol
(3) EI-2, 3 = AT (3) meso— 2, 3 —butane diol
(4) (+)-2, 3-SR (4 (#) -2, 3—butane diol
(5) T I (5) Question not attempted
Na/ga'NH -
149. [B) MM oy, _c=cC- 149, 8] N4V oy _cac-
Pd/C
CH, + Hy, ——— [A] CH,+H,-F4%, 1)

IR arfufsear & Sarg [A] @ [B] The product [A] and [B] in the

O B ¢ above reactions are respectively :
CHa £ St . = CH, ~ CHyCH,  H
B e 070 DM
H H. - H CH, H H . H CH,
CH, H CH, CH, '
o S CH, H CH, CH,
@ o 80 ek 0K @ - oo Yoe!
H CH, H H S X - : o T
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